



- (b) Determine a (homogeneous linear) recurrence equation satisfied by  $a_n = (n + 2)3^n - 7$ .

You can use the operator  $N$  to write the recurrence. No need to simplify, any form is acceptable.

- (c) If  $e^{Mx} = \begin{bmatrix} 2e^{2x} - e^x & e^{2x} - e^x \\ -2e^{2x} + 2e^x & -e^{2x} + 2e^x \end{bmatrix}$ , then  $M^n =$

- (d) Let  $y_p$  be any solution to the inhomogeneous linear differential equation  $y'' + 5y = 3e^{2x} + 5x$ . Find a homogeneous linear differential equation which  $y_p$  solves.

You can use the operator  $D$  to write the DE. No need to simplify, any form is acceptable.

**Solution.**

(a)  $y(x) = (c_1 + c_2x + c_3x^2)e^{-x} + c_4$ .

**Explanation.**  $y(x) = 4x^2e^{-x} + 7$  is a solution of  $p(D)y = 0$  if and only if  $-1, -1, -1, 0$  are roots of the characteristic polynomial  $p(D)$ . Since the order of the DE is 4, there can be no further roots. Hence, the general solution of this DE is  $y(x) = (c_1 + c_2x + c_3x^2)e^{-x} + c_4$ .

(b)  $(N - 3)^2(N - 1)a_n = 0$

**Explanation.**  $a_n = (n + 2)3^n - 7$  is a solution of  $p(N)a_n = 0$  if and only if 3 (repeated two times) and 1 are a root of the characteristic polynomial  $p(N)$ . Hence, the simplest recurrence is obtained from  $p(N) = (N - 3)^2(N - 1)$ .

[Since,  $(N - 3)^2(N - 1) = N^3 - 7N^2 + 15N - 9$ , the recurrence in explicit form is  $a_{n+3} = 7a_{n+2} - 15a_{n+1} + 9a_n$ .]

(c)  $M^n = \begin{bmatrix} 2 \cdot 2^n - 1 & 2^n - 1 \\ -2 \cdot 2^n + 2 & -2^n + 2 \end{bmatrix}$

(d)  $(D - 2)D^2(D^2 + 5)y = 0$

**Explanation.** Since  $y_p$  solves the inhomogeneous DE, we have  $(D^2 + 5)y_p = 3e^{2x} + 5x$ . The right-hand side  $3e^{2x} + 5x$  is a solution of  $p(D)y = 0$  if and only if 2, 0, 0 are roots of the characteristic polynomial  $p(D)$ . In particular,  $(D - 2)D^2(3e^{2x} + 5) = 0$ . Combined, we find that  $(D - 2)D^2(D^2 + 5)y_p = 0$ .

**Problem 4. (9 points)** Let  $M = \begin{bmatrix} 5 & 4 \\ 8 & 1 \end{bmatrix}$ .

(a) Compute  $e^{Mx}$ .

(b) Solve the initial value problem  $\mathbf{y}' = M\mathbf{y}$  with  $\mathbf{y}(0) = \begin{bmatrix} 0 \\ 1 \end{bmatrix}$ .

**Solution.**

(a) We determine the eigenvectors of  $M$ . The characteristic polynomial is:

$$\det(M - \lambda I) = \det\left(\begin{bmatrix} 5-\lambda & 4 \\ 8 & 1-\lambda \end{bmatrix}\right) = (5-\lambda)(1-\lambda) - 32 = \lambda^2 - 6\lambda - 27 = (\lambda+3)(\lambda-9)$$

Hence, the eigenvalues are  $\lambda = -3$  and  $\lambda = 9$ .

- To find an eigenvector  $\mathbf{v}$  for  $\lambda = -3$ , we need to solve  $\begin{bmatrix} 8 & 4 \\ 8 & 4 \end{bmatrix} \mathbf{v} = \mathbf{0}$ .

Hence,  $\mathbf{v} = \begin{bmatrix} -1 \\ 2 \end{bmatrix}$  is an eigenvector for  $\lambda = -3$ .

- To find an eigenvector  $\mathbf{v}$  for  $\lambda = 9$ , we need to solve  $\begin{bmatrix} -4 & 4 \\ 8 & -8 \end{bmatrix} \mathbf{v} = \mathbf{0}$ .

Hence,  $\mathbf{v} = \begin{bmatrix} 1 \\ 1 \end{bmatrix}$  is an eigenvector for  $\lambda = 9$ .

Hence, a fundamental matrix solution is  $\Phi = \begin{bmatrix} -e^{-3x} & e^{9x} \\ 2e^{-3x} & e^{9x} \end{bmatrix}$ .

Note that  $\Phi(0) = \begin{bmatrix} -1 & 1 \\ 2 & 1 \end{bmatrix}$ , so that  $\Phi(0)^{-1} = \frac{1}{3} \begin{bmatrix} -1 & 1 \\ 2 & 1 \end{bmatrix}$ . It follows that

$$e^{Mx} = \Phi(x)\Phi(0)^{-1} = \begin{bmatrix} -e^{-3x} & e^{9x} \\ 2e^{-3x} & e^{9x} \end{bmatrix} \frac{1}{3} \begin{bmatrix} -1 & 1 \\ 2 & 1 \end{bmatrix} = \frac{1}{3} \begin{bmatrix} e^{-3x} + 2e^{9x} & -e^{-3x} + e^{9x} \\ -2e^{-3x} + 2e^{9x} & 2e^{-3x} + e^{9x} \end{bmatrix}.$$

(b) The solution to the IVP is  $\mathbf{y}(x) = e^{Mx} \begin{bmatrix} 0 \\ 1 \end{bmatrix} = \frac{1}{3} \begin{bmatrix} e^{-3x} + 2e^{9x} & -e^{-3x} + e^{9x} \\ -2e^{-3x} + 2e^{9x} & 2e^{-3x} + e^{9x} \end{bmatrix} \begin{bmatrix} 0 \\ 1 \end{bmatrix} = \frac{1}{3} \begin{bmatrix} -e^{-3x} + e^{9x} \\ 2e^{-3x} + e^{9x} \end{bmatrix}$ .

(extra scratch paper)